CLASS COPY

Liter ( Moles ( Particles  Practice Problems
** All the gases are at STP, temperature at 0°C and pressure at 1 atm. 
1. How many particles are in 55.0 L of steam?  Are these particles called atoms or molecules? 

2. How many molecules does 75.0 L of methane, CH4, contain? 

3. How many atoms does 113 L of Xe gas contain? 
4. How many liters would 3.85x1025 atoms of Ne occupy?

5. How many liters would 5.94x1022 molecules of water occupy? 

6. How many moles are in 70.0L of O2 gas?
7. How many moles does 65 L of CO2 gas contain?
8. How many liters does 1.50 moles of steam occupy? 
9. How many liters will 3.59 moles of N2 occupy? 
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ANSWER KEY
Liter ( Particles ( Moles  Practice Problems

** All the gases are at STP, temperature at 0°C and pressure at 1 atm. 
1. How many particles are in 55.0 L of steam?  Are these particles called atoms or molecules? 1.48x1024 molecules of H2O
2. How many molecules does 75.0 L of methane, CH4, contain? 2.02x1024 molecules of CH4
3. How many atoms does 113 L of Xe gas contain? 3.04x1024 atoms of Xe
4. How many liters would 3.85x1025 atoms of Ne occupy? 1432.6 ≈ 1430 L Ne
5. How many liters would 5.94x1022 molecules of water occupy? 2.21 L H2O 

6. How many moles are in 70.0L of O2 gas? 3.12 moles O2
7. How many moles does 65 L of CO2 gas contain? 2.9 moles CO2
8. How many liters does 1.50 moles of steam occupy? 33.6 L H2O
9. How many liters will 3.59 moles of N2 occupy? 80.4 L N2
